Potencias de 10 (B)

Calcule los siguientes productos y cocientes.

6,02 x 100

7,375+ 100

2,564 x 100

8,372 +100

4,876+ 100

6,334 =100

6,367 = 100

7,743 x 100

1,155 x 100

5,836 +100

2,92+ 100

2,661 x 100

3,668 x 100

1,406 -+ 100

7,901 = 100

3,289 x 100

1,068 = 100

7,409 x 100

6,113 =100

6,548 x 100
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Potencias de 10 (B) Respuestas

Calcule los siguientes productos y cocientes.

6,02 x 100
602
7,375+ 100
0,07375
2,564 x 100
256,4
8,372+ 100
0,08372
4,876+ 100
0,04876
6,334+ 100
0,06334
6,367 = 100
0,06367

7,743 x 100
774,3

1,155 x 100
115,5
5,836+ 100
0,05836

2,92+ 100
0,0292

2,661 x 100
266, 1

3,668 x 100
366,8
1,406 = 100
0,01406
7,901 + 100
0,07901
3,289 x 100
328.,9
1,068 = 100
0,01068
7,409 x 100
740,9
6,113+ 100
0,06113

6,548 x 100
654,8
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